-

Additional Hardware Information

*¢ Need to check stocks available

MNU-1MO1A

-

iy

7.92

}7

362

1/4-40 UNS-2A

062 % ‘

1.57

MNU-1M04 s

M6P 0.75 THD

MNU-1MO07

B

14.00 k

15/32-32 UNS

.078

1.98

MNU-1M41

.354

9.00
2.402
@ 210.20
M6P 0.75THD

——

MNU-1M17 MNU-7M01
— 35 __, 362
vt T I 5,250
315 315 26.35
800 () 8.00 -

—

D

1/4-40 UNS-2A
I 2.50
—

1/4-40 UNS-2A

('_U c
ES  MNU-2MoL o MNU-1M42
o : 078
= g [ T 2.00
58 RO,
< o f 10-48 UNS-2A
©
g (-
°
©
T
047
119
MNU-PAO3 630 MNU-PAO4 ig%%
[~ 16.00 [~ 16.
M12x0.75 Sl
[y ﬂ f
L an 2 (]
o o Y
M12x0.75 S 138
3.50
.098 ; ‘ i
2.50
290 We have invented the rules

www.dailywell.com.tw



-

Additional Hardware Information

*¢Need to check stocks available
DRESS NUTS

MNU-1M18 MNU-1M24
1/4-40 UNS-2A 1/4-40 UNS-2A
060 314 DIA e
38333 DIA 150 o N *‘ [‘4 50
‘ E\ | @ E
Controlled m Controlled
Knurt Knurl
MNU-1M52 MNU-1M19
15/32-32 UNS-2A 1/4-40 UNS-2A '83&8
0551 &10
214.00
| o
1.98
MNU-1M20 MNU-1M21
1/4-40 UNS-2A 1/4-40 UNS-2A

.319

228 | 8.10 327
2.531 5.80 2.492 8.30 [*
213.50

I 212.50

i ‘? o5

i

e,

p 4.35
216.00 T r 2.372 .%18

29.46

242
6.15
MNU-1M32 MNU-1M48
1/4-40 UNS-2A 14" 40T -
551 303
oos0 14,00 ™ —510.00
S
12,00
] S g
5%
= E
S
MNU-1M16 MNU-1M29 < ;
1532-32 UNS2A 4630 71 1/4-40 UNS-2A g
2
i)
(]
T

- s .

MNU-1M45 MNU-1M47
1/4-40 UNS-2A M6x0.75 THD

&

.118

We have invented the rules 201
www.dailywell.com.tw



Additional
Hardware Information

292

Additional Hardware Information

*¢ Need to check stocks available

MNU-1M50 MNU-1M53
M6x0.75 THD M6x0.75 THD
.080
oo = 208
g 7 043 N @
1.10
MNU-1M56 MNU-1M57
M6X0.75THD 138 1/4-40 UNS-2A -102
76 =~ 350 039 260
S i
9 LH 291 276 |
7.40 7.00
) 039
2.394 10.83 f f 1.00 f

210.00

LOCKING RINGS

MNU-1M02

MNU-1M05

472 DIA.

211.99 T T rfgg

MNU-1MO08

MNU-1M11

—

—r

MNU-1M02P
2.469
211.90 232
} 5.90
@ 2.252 /
26.40 .031

—=~—080

MNU-2MO0B

.079

"

2.468
211.90

2.197
25.00

T ri.so
179

4.55 ﬂ'-'j
1

J L 027
0.70

.496
12.60

We have invented the rules
www.dailywell.com.tw



i

Additional Hardware Information

*¢Need to check stocks available
LOCKWASHER

MNU-1M03 MNU-1M09

2.625

9

e = 018 THK .039 THK

0.46 1.0

MNU-2M03 MNU-1M27

28 €9 N
.018 THK .071 THK
0.46 1.80
NAMEPLATE
MNU-1M10 MNU-1M22

.618
15.70

L L

020
0.50

© 5
5%
s E
=05
SE
RUBBER - HOOD <o
®©
2
E1-RUBBER-HOOD E4-RUBBER-HOOD g
K1-RUBBER-HOOD K4-RUBBER-HOOD T

0.165 5.165

@ 04,20 @m.zo

185

470

& () o ;
s | N =
J 0.472 J 2.472
212.00 \_/4.40 UNS-2A(ED) 212.00 "1 /4.40 UNS-2A(E4)
M6x0.75 THD(K1) M6x0.75 THD(K4)

We have invented the rules 203

www.dailywell.com.tw



T 5
C'%
(o]

s &
S E
<o
©
S
e
©
T

294

Additional Hardware Information

*¢ Need to check stocks available

RUBBER - HOOD

PU2-ET-102 421

AL

PU2-WB-A7A

!

/\

.630
16.00

N

.925
23.50

15/32-32 UNS-2A

PG1-RUBBER-HOOD

.630
16.00

2.276
27.0

.504

15/32-32 UNS-2A

PG2A-RUBBER-HOOD

77

&

O-Ring

15/32-32 UNS-2A (FCP-A390)

.567+.019
PG3A-RUBBER-HOOD  — 214_0450,5 ~

2.484+.015
212.3+0.4

2.567+.019
214.4+0.5

4

O-Ring
15/32-32 UNS-2A (FCP-A390)

FCP-P003-2
(Black cap)

FCP-P003
(Transparent cap)

* Supplied with PA series

PF2-RUBBER-HOOD
*Si-20°

| 2.276

r_T 27.0
433 ;

11.00

t L—%—‘
15/32-32 UNS-2A

We have invented the rules
www.dailywell.com.tw



	Additional hardware information_2018

